X AN >\ ¢ —_—
1 11l FZ2AKERE IR 2 == RI 1
AVA ‘ o
#1: 9 BEA(20) #2: 4 SHDC(19.22) #3: 1 BFEE(15.52)
1 NS: =R SREHGHO) 4 2 NS: BXE SEE(BAC) -22 VP:| 15.52 : 4.48 | Total VP: 15.52 Rank:
EW: E1E SE%EAC) 22 EW: Zi RigT(BAO) -4 IMP:} 21 : 3 3
- I -
#1 s 74 3NE3 -400 Mean: 3NE-1 50 80 2 ||# 2 s KT9 1NE-3 150 Mean: 4HS4 620 10.0 1
v AK976 3NE4 -430 -270  2HXN-1 100 50 1 v A974 1NE-4 200 130 1NE-5 250 3.0 1
¢ 972 Dif: 30 NS:-4 3SE4 170 3.0 1 + KQT7 Dif: -50 NS:1 1NN4 180 20 1
& AKT IMP: 1 EW:4 2sw4 470 3.0 3 » K9 IMP: -2 EW:-2 1NE-4 200 20 4
& AKQJ5 s T8 A 00 6 ||a 876 » QJ542 2HS4 170 1.0 1
v 2 v QT54 4sw4 420 -40 1 ||e T6 I v Q52 1NN3 150 1.0 1
¢ AJ54 + KQ8 3NW4 430 -40 1 ||e J942 ¢ A5 1NE-3 150 1.0 3
* Q73 » J942 3NE4 430 -40 2 ||a T872 » AQJ A 00 6
%o ¢ VAN 49632 3NE3 400 -40 5 FOVAN 4, A3 1NE-2 100 1.0 1
N ~~~~~ v J83 N ~ 44 ~4 v KJ83 1NE-1 50 20 1
S ~~~~~ ¢ T63 S ~34~3 #2863 1NXE1 180 7.0 1
E 34~43 %865 E ~~~~~ & 6543 5HXS-2 500 -12.0 1
w 34~43 W ~~~~~
# 3 a2 3NS-2-100 Mean: 4SXW-1 200 80 1 |[|# 4 » Q763 3NE5 -660 Mean: 3DE3 110  10.0 1
v AT842 3SE3 -140 -120 3HS3 140 6.0 1 v AQ 3NE5 -660 -590 3CW3 110  10.0 1
¢ 93 Dif: 40 NS:1  3HN3 140 6.0 1 + K63 Dif: 0 NS:-2 A 00 6
& KQ943 IMP: 1 EW:1 3NS-1 -50 20 1 & QT65 IMP: 0 EW:2 3NE4 630 -1.0 3
& AQT98 a 743 3HS-1 50 20 3 ||e K4 a AT9 3NW5 660 -20 3
v5 v 9763 3NS-2 4100 1.0 2 ||e J6 _I_ v KT9 3NE5 660 -20 6
* KQJ * A754 3HS-2 4100 1.0 1 ||e AJO84 ¢ QT2 3NE6 690 -3.0 1
& AJT8 a 75 3HN-2 4100 1.0 1 ||a J43 a AK92 2HXS-3 800 -5.0 1
% ¢ VBN AKIGS A 00 6 *eVABN o852
N ~~2~~ vKQJ 3SW3 140 10 2 |IN ~~~~~ v 875432
S 1~2~1 #7862 3SE3 140 10 1||S ~~~~~ ¢ 75
E ~1~3~ 862 4SW4 620 -11.0 1 ||E 45 ~~5 &87
W ~1~3~ 5HXN-4  -800 -12.0 1 45~~5
#5 & K7632 4HW4 -420 Mean: 4HW-1 50 80 2(|# 6 a T2 2DS2 90 Mean: 2HN4 170 40 1
v9 4HW4 -420 -290  4HE-1 50 80 1 v Q9765 2DS-1-50 40  3CN4 130 3.0 1
¢ T743 Dif: 0 NS:-4 3HW3 140 40 1 ¢5 Dif: 140 NS:2 2HN3 140 30 1
& AT7 IMP: 0 EW:4 2HW3 140 40 1 & KQJ97 IMP: 4 EW:3 2HN2 110 20 1
& AJB4 4 QT A 00 6 ||aAJ9 » KQ84 2DS2 90 20 3
v K832 v QJ764 3NW3 400 3.0 1 ||w AT84 — v 32 1NS1 90 20 1
+ AQ5 ¢ 962 4HW5 450 -40 2 ||e A32 ¢ T874 1NN2 120 20 1
& K3 » QJ9 4HW4 420 -40 8 ||a T53 » 862 1NN1 90 20 1
P ¢VABN 4,95 o ¢ VBN 4 7653 A 00 6
N 1 ~~~~ 9AT5 N 3~2~1 wKJ 3NS-1 50 3.0 1
S 1~~~~ ¢KJ8 S 3~2~1 ¢ KQJ% 3HN-1 50 3.0 1
E ~~3~3 #86542 E~~~1~ a&hAd 2DS-1 -50 3.0 2
W ~~3~3 ~~~1~ 3NS-2 100 40 1
3DS-2 100 40 1
#7 » AQ93 4SS5 650 Mean: 4SS6 680 30 2 |[|# 8 » 852 3NS3 400 Mean: 3NS5 460 4.0 1
v KQT 4SS5 650 590 4SS5 650 20 11 v J876 3NS4430 330 3NS4 430 3.0 3
¢ 54 Dif: 0 NS:2 4SN5 650 2.0 1 * AJ Dif: -30 NS:2 3NN4 430 3.0 1
& AT53 IMP: 0 EW:-2 A 00 6 & J943 IMP: -1 EW:-3 3NS3 400 2.0 8
& 854 a7 3885 200 -90 1 ||a JT93 a K76 A 00 6
v AJ963 + v 842 2NN4 180 90 1 ||e T2 v KQ43 2NS3 150 5.0 1
¢ 72 ¢ KQJT83 ¢ 843 + Q965 3NS-1 -50 9.0 2
& Q92 S a 864 » Q652 aT7
% VBN ,KITG2 *eVAN o AQL
N 6~~55 975 N 4~5~4 A%
S 6~~55 ¢A9% S 4~5~4 ¢KIT72
E ~~~~~ & KJ7 E ~~~~~ & AK8
W ~~~~~ W~~~ ~
#9 & KJT93 4SXN-4 -800 Mean: 4HE4 620 20 7 ||# 10 & KT84 4SS5 650 Mean: 4SS5 650 9.0 9
v 5HXWS5 -850 -680 5HWS 650 1.0 1 v A6 3HE4 170 270 A 00 6
» AB72 Dif: 50 NS:-3 5HE5 650 1.0 1 ¢ AT62 Dif: 820 NS:9 3SS5 200 20 2
& AQJ5 IMP: 2 EW:5 4HW5 650 1.0 2 & A85 IMP: 13 EW:10 4SS-1 100 9.0 1
s Q2 » A876 4HE5 650 1.0 2 ||a Q75 'y 6SS-2 200 100 1
v KJT87542 v A9%6 A 00 6 ||w KT52 _I_ v QJ9873 3HE4 170 -10.0 1
T * KJ53 4SXN-4 800 3.0 1 ||e 84 * K753 4HE4 620 -13.0 1
& 43 » K7 5HXW5 850 -50 1 ||& KQT6 » J97 4HS-7 700 140 1
FOVAN 4,54 4HXWS5 990 70 1 % ¢ VAN 4 AJ96G32
N 43~2~ Q3 N ~2~43 w4
S 43 ~1~ ¢Q94 S ~2~43 ¢QJ9
E ~~4~3 #T9862 E 1~4~~ #432
W ~~5~4 1~4~~




X AN >\ ¢ —_—
1 11l FZ2AKERE IR 2 == RI 1
AVA ‘ o
#1: 9 BEA(20) #2: 4 SHDC(19.22) #3: 1 BFEE(15.52)
2 NS: BISCfE =EFEEAC) -22 1 NS: E}18 RRFR(FH0) 4 VP:| 448 : 15.52| Total VP: 4.48 Rank:
EW: 1% R TEI0) 4 EW: 81818 REMH(EAC) 22 IMP:| 3 21 20
— I —
#1 s 74 3NE3 400 Mean: 3NE-1 50 80 2 ||# 2 s KT9 1NE-3 -150 Mean: 4HS4 620 10.0 1
v AK976 3NE4 430 -270  2HXN-1 100 50 1 v A974 1NE-4 -200 130  1NE-5 250 3.0 1
¢ 972 Dif: -30 NS:-4 3SE4 170 3.0 1 + KQT7 Dif: 50 NS:2 1NN4 180 20 1
& AKT IMP: -1 EW:4 2Sw4 470 3.0 3 » K9 IMP: 2 EW:-1 1NE-4 200 20 4
& AKQJ5 s T8 A 00 6 ||a 876 » QJ542 2HS4 170 1.0 1
v 2 v QT54 4sw4 420 -40 1 ||e T6 I v Q52 1NN3 150 1.0 1
¢ AJ54 + KQ8 3NW4 430 -40 1 ||e J942 ¢ A5 1NE-3 150 1.0 3
* Q73 » J942 3NE4 430 -40 2 ||a T872 » AQJ A 00 6
%o ¢ VAN 49632 3NE3 400 -40 5 FOVAN 4, A3 1NE-2 100 1.0 1
N ~~~~~ v J83 N ~ 44 ~4 v KJ83 1NE-1 50 20 1
S ~~~~~ ¢ T63 S ~34~3 #2863 1NXE1 180 7.0 1
E 34~43 %865 E ~~~~~ & 6543 5HXS-2 500 -12.0 1
w 34~43 W ~~~~~
# 3 a2 3NS-2100 Mean: 4SXW-1 200 80 1 |[|# 4 » Q763 3NE5 660 Mean: 3DE3 110  10.0 1
v AT842 3SE3 140 -120 3HS3 140 6.0 1 v AQ 3NE5 660 -590 3CW3 110  10.0 1
¢ 93 Dif: -40 NS:-1  3HN3 140 6.0 1 + K63 Dif: 0 NS:-2 A 00 6
& KQ943 IMP: -1 EW:-1  3NS-1 -50 20 1 & QT65 IMP: 0 EW:2 3NE4 630 -1.0 3
& AQT98 a 743 3HS-1 50 20 3 ||e K4 a AT9 3NW5 660 -20 3
v5 v 9763 3NS-2 4100 1.0 2 ||e J6 _I_ v KT9 3NE5 660 -20 6
* KQJ * A754 3HS-2 4100 1.0 1 ||e AJO84 ¢ QT2 3NE6 690 -3.0 1
& AJT8 a 75 3HN-2 4100 1.0 1 ||a J43 a AK92 2HXS-3 800 -5.0 1
% ¢ VBN AKIGS A 00 6 *eVABN o852
N ~~2~~ vKQJ 3SW3 140 10 2 |IN ~~~~~ v 875432
S 1~2~1 #7862 3SE3 140 10 1||S ~~~~~ ¢ 75
E ~1~3~ 862 4SW4 620 -11.0 1 ||E 45 ~~5 &87
W ~1~3~ 5HXN-4  -800 -12.0 1 45~~5
#5 & K7632 4HW4 420 Mean: 4HW-1 50 80 2(|# 6 a T2 2DS2 -90 Mean: 2HN4 170 40 1
v9 4HW4 420 -290  4HE- 50 80 1 v Q9765 2DS-150 40  3CN4 130 3.0 1
¢ T743 Dif: 0 NS:-4 3HW3 140 40 1 ¢5 Dif: -140 NS:-3 2HN3 140 30 1
& AT7 IMP: 0 EW:4 2HW3 140 40 1 & KQJ97 IMP: -4 EW:-2 2HN2 110 20 1
& AJB4 4 QT A 00 6 ||aAJ9 » KQ84 2DS2 90 20 3
v K832 v QJ764 3NW3 400 3.0 1 ||w AT84 — v 32 1NS1 90 20 1
+ AQ5 ¢ 962 4HW5 450 -40 2 ||e A32 ¢ T874 1NN2 120 20 1
& K3 » QJ9 4HW4 420 -40 8 ||a T53 » 862 1NN1 90 20 1
P ¢VABN 4,95 o ¢ VBN 4 7653 A 00 6
N 1 ~~~~ 9AT5 N 3~2~1 wKJ 3NS-1 50 3.0 1
S 1~~~~ ¢KJ8 S 3~2~1 ¢ KQJ% 3HN-1 50 3.0 1
E ~~3~3 #86542 E~~~1~ a&hAd 2DS-1 -50 3.0 2
W ~~3~3 ~~~1~ 3NS-2 100 40 1
3DS-2 100 40 1
#7 » AQ93 4SS5 -650 Mean: 4SS6 680 30 2 |[|# 8 » 852 3NS3 -400 Mean: 3NS5 460 4.0 1
v KQT 4SS5 -650 590 4SS5 650 20 11 v J876 3NS4 -430 330 3NS4 430 3.0 3
¢ 54 Dif: 0 NS:2 4SN5 650 2.0 1 * AJ Dif: 30 NS:3 3NN4 430 3.0 1
& AT53 IMP: 0 EW:-2 A 00 6 & J943 IMP: 1 EW:-2 3NS3 400 2.0 8
& 854 a7 3885 200 -90 1 ||a JT93 a K76 A 00 6
v AJ963 + v 842 2NN4 180 90 1 ||e T2 v KQ43 2NS3 150 5.0 1
¢ 72 ¢ KQJT83 ¢ 843 + Q965 3NS-1 -50 9.0 2
& Q92 S a 864 » Q652 aT7
% VBN ,KITG2 *eVAN o AQL
N 6~~55 975 N 4~5~4 A%
S 6~~55 ¢A9% S 4~5~4 ¢KIT72
E ~~~~~ & KJ7 E ~~~~~ & AK8
W ~~~~~ W~~~ ~
#9 & KJT93 4SXN-4 800 Mean: 4HE4 620 20 7 ||# 10 & KT84 4SS5 -650 Mean: 4SS5 650 9.0 9
v 5HXW5 850 -680 5HW5 650 1.0 1 v A6 3HE4170 270 A 00 6
» AB72 Dif: -50 NS:-5 5HE5 650 1.0 1 ¢ AT62 Dif: -820 NS:-10 3SS5 200 20 2
& AQJ5 IMP: -2 EW:3 4HWS5 650 1.0 2 & A85 IMP: -13 EW:-9 4SS-1 100 9.0 1
s Q2 » A876 4HE5 650 1.0 2 ||a Q75 'y 6SS-2 200 100 1
v KJT87542 v A9%6 A 00 6 ||w KT52 _I_ v QJ9873 3HE4 170 -10.0 1
T * KJ53 4SXN-4 800 3.0 1 ||e 84 * K753 4HE4 620 -13.0 1
& 43 » K7 5HXW5 850 -50 1 ||& KQT6 » J97 4HS-7 700 140 1
FOVAN 4,54 4HXWS5 990 70 1 % ¢ VAN 4 AJ96G32
N 43~2~ Q3 N ~2~43 w4
S 43 ~1~ ¢Q94 S ~2~43 ¢QJ9
E ~~4~3 #T9862 E 1~4~~ #432
W ~~5~4 1~4~~




X AN >\ ¢ —_—
1 11l FZ2AKERE IR 2 == RI 1
AVA ‘ o
#1: 9 BEA(20) #2: 4 SHDC(19.22) #3: 1 BFEE(15.52)
3 NS: FSE5t B BUEGHO) -27 4 NS: BRE$ RE(EC) 17 VP:| 0.78 : 19.22| Total VP: 0.78 Rank:
EW: Z$H5 SFESFIEAC) -17 EW: [R¥ % BRZ50\(BAO) 27 IMP:| 11 51 21
— I -
#1 s 74 3SE4 -170 Mean: 3NE-1 50 80 2 ||# 2 s KT9 1NXE1 -180 Mean: 4HS4 620 10.0 1
v AK976 2SW4 -170 -270  2HXN-1 100 50 1 v A974 2HS4170 130 1NE-5 250 3.0 1
¢ 972 Dif: 0 NS:3 3SE4 170 3.0 1 + KQT7 Dif: -350 NS:-7 1NN4 180 20 1
& AKT IMP: 0 EW:-3 2Sw4 470 3.0 3 » K9 IMP: -8 EW:-1 1NE-4 200 20 4
& AKQJ5 s T8 A 00 6 ||a 876 » QJ542 2HS4 170 1.0 1
v 2 v QT54 4sw4 420 -40 1 ||e T6 I v Q52 1NN3 150 1.0 1
¢ AJ54 + KQ8 3NW4 430 -40 1 ||e J942 ¢ A5 1NE-3 150 1.0 3
* Q73 » J942 3NE4 430 -40 2 ||a T872 » AQJ A 00 6
%o ¢ VAN 49632 3NE3 400 -40 5 FOVAN 4, A3 1NE-2 100 1.0 1
N ~~~~~ v J83 N ~ 44 ~4 v KJ83 1NE-1 50 20 1
S ~~~~~ ¢ T63 S ~34~3 #2863 1NXE1 180 7.0 1
E 34~43 %865 E ~~~~~ & 6543 5HXS-2 500 -12.0 1
w 34~43 W ~~~~~
# 3 a2 3NS-2-100 Mean: 4SXW-1 200 80 1 |[|# 4 » Q763 3NE4 -630 Mean: 3DE3 110  10.0 1
v AT842 3HN-2-100 -120 3HS3 140 6.0 1 v AQ 3NE5 -660 -590 3CW3 110  10.0 1
93 Dif: 0 NS:1 3HN3 140 6.0 1 + K63 Dif: 30 NS:-1 A 00 6
& KQ943 IMP: 0 EW:-1 3NS-1 -50 20 1 & QT65 IMP: 1 EW:2 3NE4 630 -1.0 3
& AQT98 a 743 3HS-1 50 20 3 ||e K4 a AT9 3NW5 660 -20 3
v5 v 9763 3NS-2 4100 1.0 2 ||e J6 _I_ v KT9 3NE5 660 -20 6
* KQJ * A754 3HS-2 4100 1.0 1 ||e AJO84 ¢ QT2 3NE6 690 -3.0 1
& AJT8 a 75 3HN-2 4100 1.0 1 ||a J43 a AK92 2HXS-3 800 -5.0 1
% ¢ VBN AKIGS A 00 6 *eVABN o852
N ~~2~~ vKQJ 3SW3 140 10 2 |IN ~~~~~ v 875432
S 1~2~1 #7862 3SE3 140 10 1||S ~~~~~ ¢ 75
E ~1~3~ 862 4SW4 620 -11.0 1 ||E 45 ~~5 &87
W ~1~3~ 5HXN-4  -800 -12.0 1 45~~5
#5 & K7632 4HW4 -420 Mean: 4HW-1 50 80 2(|# 6 a T2 2DS-1-50 Mean: 2HN4 170 40 1
v9 4HW-150 -290 4HE-1 50 80 1 v Q9765 3CN4130 40  3CN4 130 3.0 1
¢ T743 Dif: -470 NS:-4 3HW3 140 40 1 ¢5 Dif: -180 NS:-3 2HN3 140 30 1
& AT7 IMP: -10 EW:-8 2HWS3 140 40 1 & KQJ97 IMP: -5 EW:-3 2HN2 110 20 1
& AJB4 4 QT A 00 6 ||aAJ9 » KQ84 2DS2 90 20 3
v K832 v QJ764 3NW3 400 3.0 1 ||w AT84 — v 32 1NS1 90 20 1
+ AQ5 ¢ 962 4HW5 450 -40 2 ||e A32 ¢ T874 1NN2 120 20 1
& K3 » QJ9 4HW4 420 -40 8 ||a T53 » 862 1NN1 90 20 1
P ¢VABN 4,95 o ¢ VBN 4 7653 A 00 6
N 1 ~~~~ 9AT5 N 3~2~1 wKJ 3NS-1 50 3.0 1
S 1~~~~ ¢KJ8 S 3~2~1 ¢ KQJ% 3HN-1 50 3.0 1
E ~~3~3 #86542 E~~~1~ a&hAd 2DS-1 -50 3.0 2
W ~~3~3 ~~~1~ 3NS-2 100 40 1
3DS-2 100 40 1
#7 » AQ93 2NN4 180 Mean: 4SS6 680 30 2 |[|# 8 » 852 3NS-1-50 Mean: 3NS5 460 4.0 1
v KQT 4SS5 650 590 4SS5 650 20 11 v J876 3NS3400 330 3NS4 430 3.0 3
+ 54 Dif: -470 NS:-9 4SN5 650 2.0 1 * AJ Dif: -450 NS:-9 3NN4 430 3.0 1
& AT53 IMP: -10 EW:-2 A 00 6 & J943 IMP: -10 EW:-2 3NS3 400 2.0 8
& 854 a7 3885 200 -90 1 ||a JT93 a K76 A 00 6
v AJ963 + v 842 2NN4 180 90 1 ||e T2 v KQ43 2NS3 150 5.0 1
¢ 72 ¢ KQJT83 ¢ 843 + Q965 3NS-1 -50 9.0 2
& Q92 S a 864 » Q652 aT7
% VBN ,KITG2 *eVAN o AQL
N 6~~55 975 N 4~5~4 A%
S 6~~55 ¢A9% S 4~5~4 ¢KIT72
E ~~~~~ & KJ7 E ~~~~~ & AK8
W ~~~~~ W~~~ ~
#9 & KJT93 4HXWS5 -990 Mean: 4HE4 620 20 7 ||# 10 & KT84 4SS5 650 Mean: 4SS5 650 9.0 9
v 4HWS5 -650 -680  5HW5 650 1.0 1 v A6 3SS5200 270 A 00 6
» AB72 Dif: -340 NS:-7 5HE5 650 1.0 1 ¢ AT62 Dif: 450 NS:9 3SS5 200 20 2
& AQJ5 IMP: -8 EW:-1 4HWS5 650 1.0 2 & A85 IMP: 10 EW:2 4SS-1 100 9.0 1
s Q2 » A876 4HE5 650 1.0 2 ||a Q75 'y 6SS-2 200 100 1
v KJT87542 v A9%6 A 00 6 ||w KT52 _I_ v QJ9873 3HE4 170 -10.0 1
T * KJ53 4SXN-4 800 3.0 1 ||e 84 * K753 4HE4 620 -13.0 1
& 43 » K7 5HXW5 850 -50 1 ||& KQT6 » J97 4HS-7 700 140 1
FOVAN 4,54 4HXWS5 990 70 1 % ¢ VAN 4 AJ96G32
N 43~2~ Q3 N ~2~43 w4
S 43 ~1~ ¢Q94 S ~2~43 ¢QJ9
E ~~4~3 #T9862 E 1~4~~ #432
W ~~5~4 1~4~~




X AN >\ ¢ —_—
1 11l FZ2AKERE IR 2 == RI 1
AVA ‘ o
#1: 9 BEA(20) #2: 4 SHDC(19.22) #3: 1 BFEE(15.52)
4 NS: BREE AEHEAC) 17 3 NS: i 21 (BO) -21 VP:| 19.22 : 0.78 Total VP: 19.22 Rank:
EW: BE2E22 BRZEMBF0) 27 EW: Z=§E28 SEmA(BAC) 1 IMP:| 51 1 2
o I -
#1 s 74 3SE4 170 Mean: 3NE-1 50 80 2 ||# 2 s KT9 1NXE1 180 Mean: 4HS4 620 10.0 1
v AK976 2SW4 170 -270  2HXN-1 100 50 1 v A974 2HS4 -170 130  1NE-5 250 3.0 1
¢ 972 Dif: 0 NS:3 3SE4 170 3.0 1 + KQT7 Dif: 350 NS:1 1NN4 180 20 1
& AKT IMP: 0 EW:-3 2Sw4 470 3.0 3 » K9 IMP: 8 EW:7 1NE-4 200 20 4
& AKQJ5 s T8 A 00 6 ||a 876 » QJ542 2HS4 170 1.0 1
v 2 v QT54 4sw4 420 -40 1 ||e T6 I v Q52 1NN3 150 1.0 1
¢ AJ54 + KQ8 3NW4 430 -40 1 ||e J942 ¢ A5 1NE-3 150 1.0 3
* Q73 » J942 3NE4 430 -40 2 ||a T872 » AQJ A 00 6
%o ¢ VAN 49632 3NE3 400 -40 5 FOVAN 4, A3 1NE-2 100 1.0 1
N ~~~~~ v J83 N ~ 44 ~4 v KJ83 1NE-1 50 20 1
S ~~~~~ ¢ T63 S ~34~3 #2863 1NXE1 180 7.0 1
E 34~43 %865 E ~~~~~ & 6543 5HXS-2 500 -12.0 1
w 34~43 W ~~~~~
# 3 a2 3NS-2100 Mean: 4SXW-1 200 80 1 |[|# 4 » Q763 3NE4 630 Mean: 3DE3 110  10.0 1
v AT842 3HN-2100 -120 3HS3 140 6.0 1 v AQ 3NE5 660 -590 3CW3 110  10.0 1
93 Dif: 0 NS:1 3HN3 140 6.0 1 + K63 Dif: -30 NS:2 A 00 6
& KQ943 IMP: 0 EW:-1 3NS-1 -50 20 1 & QT65 IMP: -1 EW:1 3NE4 630 -1.0 3
& AQT98 a 743 3HS-1 50 20 3 ||e K4 a AT9 3NW5 660 -20 3
v5 v 9763 3NS-2 4100 1.0 2 ||e J6 _I_ v KT9 3NE5 660 -20 6
* KQJ * A754 3HS-2 4100 1.0 1 ||e AJO84 ¢ QT2 3NE6 690 -3.0 1
& AJT8 a 75 3HN-2 4100 1.0 1 ||a J43 a AK92 2HXS-3 800 -5.0 1
% ¢ VBN AKIGS A 00 6 *eVABN o852
N ~~2~~ vKQJ 3SW3 140 10 2 |IN ~~~~~ v 875432
S 1~2~1 #7862 3SE3 140 10 1||S ~~~~~ ¢ 75
E ~1~3~ 862 4SW4 620 -11.0 1 ||E 45 ~~5 &87
W ~1~3~ 5HXN-4  -800 -12.0 1 45~~5
#5 & K7632 4HW4 420 Mean: 4HW-1 50 80 2(|# 6 a T2 2DS-150 Mean: 2HN4 170 40 1
v9 4HW-1 -50 -290  4HE-1 50 80 1 v Q9765 3CN4 -130 40  3CN4 130 3.0 1
¢ T743 Dif: 470 NS:8 3HW3 140 40 1 ¢5 Dif: 180 NS:3 2HN3 140 30 1
& AT7 IMP: 10 EW:4 2HW3 140 40 1 & KQJ97 IMP: 5 EW:3 2HN2 110 20 1
& AJB4 4 QT A 00 6 ||aAJ9 » KQ84 2DS2 90 20 3
v K832 v QJ764 3NW3 400 3.0 1 ||w AT84 — v 32 1NS1 90 20 1
+ AQ5 ¢ 962 4HW5 450 -40 2 ||e A32 ¢ T874 1NN2 120 20 1
& K3 » QJ9 4HW4 420 -40 8 ||a T53 » 862 1NN1 90 20 1
P ¢VABN 4,95 o ¢ VBN 4 7653 A 00 6
N 1 ~~~~ 9AT5 N 3~2~1 wKJ 3NS-1 50 3.0 1
S 1~~~~ ¢KJ8 S 3~2~1 ¢ KQJ% 3HN-1 50 3.0 1
E ~~3~3 #86542 E~~~1~ a&hAd 2DS-1 -50 3.0 2
W ~~3~3 ~~~1~ 3NS-2 100 40 1
3DS-2 100 40 1
#7 » AQ93 2NN4 -180 Mean: 4SS6 680 30 2 |[|# 8 » 852 3NS-150 Mean: 3NS5 460 4.0 1
v KQT 4SS5 -650 590 4SS5 650 20 11 v J876 3NS3 -400 330 3NS4 430 3.0 3
+ 54 Dif: 470 NS:2 4SN5 650 2.0 1 * AJ Dif: 450 NS:2 3NN4 430 3.0 1
& AT53 IMP: 10 EW:9 A 00 6 & J943 IMP: 10 EW:9 3NS3 400 2.0 8
& 854 a7 3885 200 -90 1 ||a JT93 a K76 A 00 6
v AJ963 + v 842 2NN4 180 90 1 ||e T2 v KQ43 2NS3 150 5.0 1
¢ 72 ¢ KQJT83 ¢ 843 + Q965 3NS-1 -50 9.0 2
& Q92 S a 864 » Q652 aT7
% VBN ,KITG2 *eVAN o AQL
N 6~~55 975 N 4~5~4 A%
S 6~~55 ¢A9% S 4~5~4 ¢KIT72
E ~~~~~ & KJ7 E ~~~~~ & AK8
W ~~~~~ W~~~ ~
#9 & KJT93 4HXWS5 990 Mean: 4HE4 620 20 7 ||# 10 & KT84 4SS5 -650 Mean: 4SS5 650 9.0 9
v 4HW5 650 -680 5HW5 650 1.0 1 v A6 3SS5-200 270 A 00 6
» AB72 Dif: 340 NS:1  5HE5 650 1.0 1 ¢ AT62 Dif: -450 NS:-2 3SS5 200 20 2
& AQJ5 IMP: 8 EW:7 4HWS5 650 1.0 2 & A85 IMP: -10 EW:-9 4SS-1 100 9.0 1
s Q2 » A876 4HE5 650 1.0 2 ||a Q75 'y 6SS-2 200 100 1
v KJT87542 v A9%6 A 00 6 ||w KT52 _I_ v QJ9873 3HE4 170 -10.0 1
T * KJ53 4SXN-4 800 3.0 1 ||e 84 * K753 4HE4 620 -13.0 1
& 43 » K7 5HXW5 850 -50 1 ||& KQT6 » J97 4HS-7 700 140 1
FOVAN 4,54 4HXWS5 990 70 1 % ¢ VAN 4 AJ96G32
N 43~2~ Q3 N ~2~43 w4
S 43 ~1~ ¢Q94 S ~2~43 ¢QJ9
E ~~4~3 #T9862 E 1~4~~ #432
W ~~5~4 1~4~~




X AN >\ ¢ —_—
1 11l FZ2AKERE IR 2 == RI 1
AVA ‘ o
#1: 9 BEA(20) #2: 4 SHDC(19.22) #3: 1 BFEE(15.52)
5 NS: B REEGHO) -1 6 NS: BRE2E #el3Z(BAC) 10 VP:| 6.57 13.43| Total VP: 6.57 Rank:
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v AK976 3NE3 -400 -270  2HXN-1 100 50 1 v A974 1NE-4 200 130 1NE-5 250 3.0 1
¢ 972 Dif: 0 NS:-4 3SE4 170 3.0 1 + KQT7 Dif: 0 NS:2 1NN4 180 20 1
& AKT IMP: 0 EW:4 2sw4 470 3.0 3 » K9 IMP: 0 EW:-2 1NE-4 200 20 4
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v 2 v QT54 4sw4 420 -40 1 ||e T6 I v Q52 1NN3 150 1.0 1
¢ AJ54 + KQ8 3NW4 430 -40 1 ||e J942 ¢ A5 1NE-3 150 1.0 3
* Q73 » J942 3NE4 430 -40 2 ||a T872 » AQJ A 00 6
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N ~~~~~ v J83 N ~ 44 ~4 v KJ83 1NE-1 50 20 1
S ~~~~~ ¢ T63 S ~34~3 #2863 1NXE1 180 7.0 1
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w 34~43 W ~~~~~
# 3 a2 3SW3 -140 Mean: 4SXW-1 200 80 1 |[|# 4 » Q763 3NE4 -630 Mean: 3DE3 110  10.0 1
v AT842 3HS-2-100 -120 3HS3 140 6.0 1 v AQ 3NE5 -660 -590 3CW3 110  10.0 1
¢ 93 Dif: -40 NS:-1  3HN3 140 6.0 1 + K63 Dif: 30 NS:-1 A 00 6
& KQ943 IMP: -1 EW:-1  3NS-1 -50 20 1 & QT65 IMP: 1 EW:2 3NE4 630 -1.0 3
& AQT98 a 743 3HS-1 50 20 3 ||e K4 a AT9 3NW5 660 -20 3
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E ~1~3~ 862 4SW4 620 -11.0 1 ||E 45 ~~5 &87
W ~1~3~ 5HXN-4  -800 -12.0 1 45~~5
#5 & K7632 4HW4 -420 Mean: 4HW-1 50 80 2(|# 6 a T2 2DS2 90 Mean: 2HN4 170 40 1
v9 4HW4 -420 -290  4HE-1 50 80 1 v Q9765 1NN2120 40  3CN4 130 3.0 1
¢ T743 Dif: 0 NS:-4 3HW3 140 40 1 ¢5 Dif: -30 NS:2 2HN3 140 30 1
& AT7 IMP: 0 EW:4 2HW3 140 40 1 & KQJ97 IMP: -1 EW:-2 2HN2 110 20 1
& AJB4 4 QT A 00 6 ||aAJ9 » KQ84 2DS2 90 20 3
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+ AQ5 ¢ 962 4HW5 450 -40 2 ||e A32 ¢ T874 1NN2 120 20 1
& K3 » QJ9 4HW4 420 -40 8 ||a T53 » 862 1NN1 90 20 1
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# 3 a2 3SW3 140 Mean: 4SXW-1 200 80 1 |[|# 4 » Q763 3NE4 630 Mean: 3DE3 110  10.0 1
v AT842 3HS-2100 -120 3HS3 140 6.0 1 v AQ 3NE5 660 -590 3CW3 110  10.0 1
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& KQ943 IMP: 1 EW:1 3NS-1 -50 20 1 & QT65 IMP: -1 EW:1 3NE4 630 -1.0 3
& AQT98 a 743 3HS-1 50 20 3 ||e K4 a AT9 3NW5 660 -20 3
v5 v 9763 3NS-2 4100 1.0 2 ||e J6 _I_ v KT9 3NE5 660 -20 6
* KQJ * A754 3HS-2 4100 1.0 1 ||e AJO84 ¢ QT2 3NE6 690 -3.0 1
& AJT8 a 75 3HN-2 4100 1.0 1 ||a J43 a AK92 2HXS-3 800 -5.0 1
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W ~1~3~ 5HXN-4  -800 -12.0 1 45~~5
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v9 4HW4 420 -290  4HE- 50 80 1 v Q9765 1NN2 -120 40  3CN4 130 3.0 1
¢ T743 Dif: 0 NS:-4 3HW3 140 40 1 ¢5 Dif: 30 NS:2 2HN3 140 30 1
& AT7 IMP: 0 EW:4 2HW3 140 40 1 & KQJ97 IMP: 1 EW:-2 2HN2 110 20 1
& AJB4 4 QT A 00 6 ||aAJ9 » KQ84 2DS2 90 20 3
v K832 v QJ764 3NW3 400 3.0 1 ||w AT84 — v 32 1NS1 90 20 1
+ AQ5 ¢ 962 4HW5 450 -40 2 ||e A32 ¢ T874 1NN2 120 20 1
& K3 » QJ9 4HW4 420 -40 8 ||a T53 » 862 1NN1 90 20 1
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¢ 72 ¢ KQJT83 ¢ 843 + Q965 3NS-1 -50 9.0 2
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W ~~~~~ W~~~ ~
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» AB72 Dif: -30 NS:1  5HE5 650 1.0 1 ¢ AT62 Dif: 450 NS:9 3SS5 200 20 2
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& AKQJ5 s T8 A 00 6 ||a 876 » QJ542 2HS4 170 1.0 1
v 2 v QT54 4sw4 420 -40 1 ||e T6 I v Q52 1NN3 150 1.0 1
¢ AJ54 + KQ8 3NW4 430 -40 1 ||e J942 ¢ A5 1NE-3 150 1.0 3
* Q73 » J942 3NE4 430 -40 2 ||a T872 » AQJ A 00 6
%o ¢ VAN 49632 3NE3 400 -40 5 FOVAN 4, A3 1NE-2 100 1.0 1
N ~~~~~ v J83 N ~ 44 ~4 v KJ83 1NE-1 50 20 1
S ~~~~~ ¢ T63 S ~34~3 #2863 1NXE1 180 7.0 1
E 34~43 %865 E ~~~~~ & 6543 5HXS-2 500 -12.0 1
w 34~43 W ~~~~~
# 3 a2 3HN3 140 Mean: 4SXW-1 200 80 1 |[|# 4 » Q763 3CW3 -110 Mean: 3DE3 110  10.0 1
v AT842 5HXN-4 -800 -120 3HS3 140 6.0 1 v AQ 3NW5 -660 -590 3CW3 110  10.0 1
¢ 93 Dif: 940 NS:6  3HN3 140 6.0 1 + K63 Dif: 550 NS:10 A 00 6
& KQ943 IMP: 14 EW:12 3NS-1 -50 20 1 & QT65 IMP: 11 EW:2 3NE4 630 -1.0 3
& AQT98 a 743 3HS-1 50 20 3 ||e K4 a AT9 3NW5 660 -20 3
v5 v 9763 3NS-2 4100 1.0 2 ||e J6 _I_ v KT9 3NE5 660 -20 6
* KQJ * A754 3HS-2 4100 1.0 1 ||e AJO84 ¢ QT2 3NE6 690 -3.0 1
& AJT8 a 75 3HN-2 4100 1.0 1 ||a J43 a AK92 2HXS-3 800 -5.0 1
% ¢ VBN AKIGS A 00 6 *eVABN o852
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E ~1~3~ 862 4SW4 620 -11.0 1 ||E 45 ~~5 &87
W ~1~3~ 5HXN-4  -800 -12.0 1 45~~5
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¢ T743 Dif: -450 NS:-3 3HW3 140 40 1 ¢5 Dif: -140 NS:-3 2HN3 140 30 1
& AT7 IMP: -10 EW:-8 2HWS3 140 40 1 & KQJ97 IMP: -4 EW:-2 2HN2 110 20 1
& AJB4 4 QT A 00 6 ||aAJ9 » KQ84 2DS2 90 20 3
v K832 v QJ764 3NW3 400 3.0 1 ||w AT84 — v 32 1NS1 90 20 1
+ AQ5 ¢ 962 4HW5 450 -40 2 ||e A32 ¢ T874 1NN2 120 20 1
& K3 » QJ9 4HW4 420 -40 8 ||a T53 » 862 1NN1 90 20 1
P ¢VABN 4,95 o ¢ VBN 4 7653 A 00 6
N 1 ~~~~ 9AT5 N 3~2~1 wKJ 3NS-1 50 3.0 1
S 1~~~~ ¢KJ8 S 3~2~1 ¢ KQJ% 3HN-1 50 3.0 1
E ~~3~3 #86542 E~~~1~ a&hAd 2DS-1 -50 3.0 2
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¢ 54 Dif: 0 NS:2 4SN5 650 2.0 1 * AJ Dif: 0 NS:2 3NN4 430 3.0 1
& AT53 IMP: 0 EW:-2 A 00 6 & J943 IMP: 0 EW:-2 3NS3 400 2.0 8
& 854 a7 3885 200 -90 1 ||a JT93 a K76 A 00 6
v AJ963 + v 842 2NN4 180 90 1 ||e T2 v KQ43 2NS3 150 5.0 1
¢ 72 ¢ KQJT83 ¢ 843 + Q965 3NS-1 -50 9.0 2
& Q92 S a 864 » Q652 aT7
% VBN ,KITG2 *eVAN o AQL
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T * KJ53 4SXN-4 800 3.0 1 ||e 84 * K753 4HE4 620 -13.0 1
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FOVAN 4,54 4HXWS5 990 70 1 % ¢ VAN 4 AJ96G32
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S 1~~~~ ¢KJ8 S 3~2~1 ¢ KQJ% 3HN-1 50 3.0 1
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EW: ZEREIR BRE/KEAC) 31 EW: [R53 55 EET 1% (BAO) -4 IMP:| 62 0 1
I -
# 1 a74 2HXN-1 -100 Mean: 3NE-1 50 80 2 ||# 2 & KT9 1NE-5 250 Mean: 4HS4 620 100 1
v AK976 3NE3 -400 -270  2HXN-1 100 50 1 v A974 1NE-2100 130  1NE-5 250 3.0 1
¢ 972 Dif: 300 NS:5 3SE4 170 3.0 1 + KQT7 Dif: 150 NS:3 1NN4 180 20 1
& AKT IMP: 7 EW:4 2Sw4 470 3.0 3 » K9 IMP: 4 EW:1 1NE-4 200 20 4
& AKQJ5 s T8 A 00 6 ||a 876 » QJ542 2HS4 170 1.0 1
v 2 v QT54 4sw4 420 -40 1 ||e T6 I v Q52 1NN3 150 1.0 1
* AJ54 + KQ8 3NW4 430 -40 1 ||e J942 ¢ A5 1NE-3 150 1.0 3
* Q73 » J942 3NE4 430 -40 2 ||a T872 » AQJ A 00 6
%o ¢ VAN 49632 3NE3 400 -40 5 FOVAN 4, A3 1NE-2 100 1.0 1
N ~~~~~ v J83 N ~ 44 ~4 v KJ83 1NE-1 50 20 1
S ~~~~~ ¢ T63 S ~34~3 #2863 1NXE1 180 7.0 1
E 34~43 %865 E ~~~~~ & 6543 5HXS-2 500 -12.0 1
w 34~43 W ~~~~~
# 3 a2 3NS-1-50 Mean: 4SXW-1 200 80 1 |[|# 4 » Q763 3DE3 -110 Mean: 3DE3 110  10.0 1
v AT842 4SW4 -620 -120 3HS3 140 6.0 1 v AQ 3NE6 -690 -590 3CW3 110  10.0 1
¢ 93 Dif: 570 NS:2 3HN3 140 6.0 1 + K63 Dif: 580 NS:10 A 00 6
& KQ943 IMP: 11 EW:11  3NS-1 -50 20 1 & QT65 IMP: 11 EW:3 3NE4 630 -1.0 3
& AQT98 a 743 3HS-1 50 20 3 ||e K4 a AT9 3NW5 660 -20 3
v5 v 9763 3NS-2 4100 1.0 2 ||e J6 + v KT9 3NE5 660 -20 6
* KQJ * A754 3HS-2 4100 1.0 1 ||e AJO84 ¢ QT2 3NE6 690 -3.0 1
& AJT8 a 75 3HN-2 4100 1.0 1 ||a J43 a AK92 2HXS-3 800 -5.0 1
% ¢ VBN AKIGS A 00 6 *eVABN o852
N ~~2~~ vKQJ 3SW3 140 10 2 |IN ~~~~~ v 875432
S 1~2~1 #7862 3SE3 140 10 1||S ~~~~~ ¢ 75
E ~1~3~ 862 4SW4 620 -11.0 1 ||E 45 ~~5 &87
W ~1~3~ 5HXN-4  -800 -12.0 1 45~~5
#5 & K7632 2HW3 -140 Mean: 4HW-1 50 80 2(|# 6 a T2 1NN1 90 Mean: 2HN4 170 40 1
v9 4HWS5 -450 -290  4HE-1 50 80 1 v Q9765 3DS-2-100 40  3CN4 130 3.0 1
¢ T743 Dif: 310 NS:4 3HW3 140 40 1 ¢5 Dif: 190 NS:2 2HN3 140 30 1
& AT7 IMP: 7 EW:4 2HW3 140 40 1 & KQJ97 IMP: 5 EW:4 2HN2 110 20 1
& AJB4 a QT A 00 6 ||aAJ9 » KQ84 2DS2 90 20 3
v K832 v QJ764 3NW3 400 3.0 1 ||w AT84 — v 32 1NS1 90 20 1
+ AQ5 ¢ 962 4HW5 450 -40 2 ||e A32 ¢ T874 1NN2 120 20 1
& K3 » QJ9 4HW4 420 -40 8 ||a T53 » 862 1NN1 90 20 1
P ¢VABN 4,95 o ¢ VBN 4 7653 A 00 6
N 1 ~~~~ 9AT5 N 3~2~1 wKJ 3NS-1 50 3.0 1
S 1~~~~ ¢KJ8 S 3~2~1 ¢ KQJ% 3HN-1 50 3.0 1
E ~~3~3 #86542 E~~~1~ a&hAd 2DS-1 -50 3.0 2
W ~~3~3 ~~~1~ 3NS-2 100 40 1
3DS-2 100 40 1
#7 » AQ93 4SS5 650 Mean: 4SS6 680 30 2 |[|# 8 » 852 3NS3 400 Mean: 3NS5 460 4.0 1
v KQT 3SS5200 590 4SS5 650 2.0 11 v J876 2NS3150 330  3NS4 430 3.0 3
+ 54 Dif: 450 NS:2 4SN5 650 2.0 1 * AJ Dif: 250 NS:2 3NN4 430 3.0 1
& AT53 IMP: 10 EW:9 A 00 6 & J943 IMP: 6 EW:5 3NS3 400 2.0 8
& 854 a7 3885 200 -90 1 ||a JT93 a K76 A 00 6
v AJ963 + v 842 2NN4 180 90 1 ||e T2 v KQ43 2NS3 150 5.0 1
¢ 72 ¢ KQJT83 ¢ 843 + Q965 3NS-1 -50 9.0 2
& Q92 S a 864 » Q652 aT7
% VBN ,KITG2 *eVAN o AQL
N 6~~55 975 N 4~5~4 A%
S 6~~55 ¢A9% S 4~5~4 ¢KIT72
E ~~~~~ & KJ7 E ~~~~~ & AK8
W ~~~~~ W~~~ ~
#9 & KJT93 4HE4 -620 Mean: 4HE4 620 20 7 ||# 10 & KT84 4SS5 650 Mean: 4SS5 650 9.0 9
v 4HE5 -650 -680 5HW5 650 1.0 1 v A6 4SS5650 270 A 00 6
» AB72 Dif: 30 NS:2 5HE5 650 1.0 1 ¢ AT62 Dif: 0 NS:9 3SS5 200 20 2
& AQJ5 IMP: 1 EW:-1 4HWS5 650 1.0 2 & A85 IMP: 0 EW:-9 4SS-1 100 9.0 1
s Q2 » A876 4HE5 650 1.0 2 ||a Q75 'y 6SS-2 200 100 1
v KJT87542 v A9%6 A 00 6 ||w KT52 _I_ v QJ9873 3HE4 170 -10.0 1
T * KJ53 4SXN-4 800 3.0 1 ||e 84 * K753 4HE4 620 -13.0 1
& 43 » K7 5HXW5 850 -50 1 ||& KQT6 » J97 4HS-7 700 140 1
FOVAN 4,54 4HXWS5 990 70 1 % ¢ VAN 4 AJ96G32
N 43~2~ Q3 N ~2~43 w4
S 43 ~1~ ¢Q94 S ~2~43 ¢QJ9
E ~~4~3 #T9862 E 1~4~~ #432
W ~~5~4 1~4~~
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1 11l FZ2AKERE IR 2 == RI 1
AVA ‘ o
#1: 9 BEA(20) #2: 4 SHDC(19.22) #3: 1 BFEE(15.52)
1 O NS: B3$EE BREHERC) -31 9 NS: #B{E3E HFER(FI0) #1 VP:| 0.00 : 20.00| Total VP: 0.00 Rank:
EW: BESh35 BETf(BE0) -41 EW: ZZ8Ei8 €13 K(BAC) 31 IMP:| 0 62 22
I —
#1 s 74 2HXN-1 100 Mean: 3NE-1 50 80 2 ||# 2 s KT9 1NE-5 -250 Mean: 4HS4 620 10.0 1
v AK976 3NE3 400 -270  2HXN-1 100 50 1 v A974 1NE-2-100 130 1NE-5 250 3.0 1
¢ 972 Dif: -300 NS:-4 3SE4 170 3.0 1 + KQT7 Dif: -150 NS:-1 1NN4 180 20 1
& AKT IMP: -7 EW:-5 2SwW4 470 3.0 3 » K9 IMP: -4 EW:-3 1NE-4 200 20 4
& AKQJ5 s T8 A 00 6 ||a 876 » QJ542 2HS4 170 1.0 1
v 2 v QT54 4sw4 420 -40 1 ||e T6 I v Q52 1NN3 150 1.0 1
¢ AJ54 + KQ8 3NW4 430 -40 1 ||e J942 ¢ A5 1NE-3 150 1.0 3
* Q73 » J942 3NE4 430 -40 2 ||a T872 » AQJ A 00 6
%o ¢ VAN 49632 3NE3 400 -40 5 FOVAN 4, A3 1NE-2 100 1.0 1
N ~~~~~ v J83 N ~ 44 ~4 v KJ83 1NE-1 50 20 1
S ~~~~~ ¢ T63 S ~34~3 #2863 1NXE1 180 7.0 1
E 34~43 %865 E ~~~~~ & 6543 5HXS-2 500 -12.0 1
w 34~43 W ~~~~~
# 3 a2 3NS-150 Mean: 4SXW-1 200 80 1 |[|# 4 » Q763 3DE3 110 Mean: 3DE3 110  10.0 1
v AT842 4SW4 620 -120 3HS3 140 6.0 1 v AQ 3NE6 690 -590 3CW3 110  10.0 1
¢ 93 Dif: -570 NS:-11 3HN3 140 6.0 1 + K63 Dif: -580 NS:-3 A 00 6
& KQ943 IMP: -11 EW:-2 3NS-1 -50 20 1 & QT65 IMP: -11 EW:-10 3NE4 630 -1.0 3
& AQT98 a 743 3HS-1 50 20 3 ||e K4 a AT9 3NW5 660 -20 3
v5 v 9763 3NS-2 4100 1.0 2 ||e J6 + v KT9 3NE5 660 -20 6
* KQJ * A754 3HS-2 4100 1.0 1 ||e AJO84 ¢ QT2 3NE6 690 -3.0 1
& AJT8 a 75 3HN-2 4100 1.0 1 ||a J43 a AK92 2HXS-3 800 -5.0 1
% ¢ VBN AKIGS A 00 6 *eVABN o852
N ~~2~~ vKQJ 3SW3 140 10 2 |IN ~~~~~ v 875432
S 1~2~1 #7862 3SE3 140 10 1||S ~~~~~ ¢ 75
E ~1~3~ 862 4SW4 620 -11.0 1 ||E 45 ~~5 &87
W ~1~3~ 5HXN-4  -800 -12.0 1 45~~5
#5 & K7632 2HW3 140 Mean: 4HW-1 50 80 2(|# 6 a T2 1NN1 -90 Mean: 2HN4 170 40 1
v9 4HW5 450 -290 4HE-1 50 80 1 v Q9765 3DS-2100 40  3CN4 130 3.0 1
¢ T743 Dif: -310 NS:-4 3HW3 140 40 1 ¢5 Dif: -190 NS:-4 2HN3 140 30 1
& AT7 IMP: -7 EW:-4 2HW3 140 40 1 & KQJ97 IMP: -5 EW:-2 2HN2 110 20 1
& AJB4 4 QT A 00 6 || AJ9 » KQ84 2DS2 90 20 3
v K832 v QJ764 3NW3 400 3.0 1 ||w AT84 — v 32 1NS1 90 20 1
+ AQ5 ¢ 962 4HW5 450 -40 2 ||e A32 ¢ T874 1NN2 120 20 1
& K3 » QJ9 4HW4 420 -40 8 ||a T53 » 862 1NN1 90 20 1
P ¢VABN 4,95 o ¢ VBN 4 7653 A 00 6
N 1 ~~~~ 9AT5 N 3~2~1 wKJ 3NS-1 50 3.0 1
S 1~~~~ ¢KJ8 S 3~2~1 ¢ KQJ% 3HN-1 50 3.0 1
E ~~3~3 #86542 E~~~1~ a&hAd 2DS-1 -50 3.0 2
W ~~3~3 ~~~1~ 3NS-2 100 40 1
3DS-2 100 40 1
#7 » AQ93 4SS5 -650 Mean: 4SS6 680 30 2 |[|# 8 » 852 3NS3 -400 Mean: 3NS5 460 4.0 1
v KQT 3SS5-200 590 4SS5 650 2.0 11 v J876 2NS3 -150 330  3NS4 430 3.0 3
+ 54 Dif: -450 NS:-9 4SN5 650 2.0 1 * AJ Dif: -250 NS:-5 3NN4 430 3.0 1
& AT53 IMP: -10 EW:-2 A 00 6 & J943 IMP: -6 EW:-2 3NS3 400 2.0 8
& 854 a7 3885 200 -90 1 ||a JT93 a K76 A 00 6
v AJ963 + v 842 2NN4 180 90 1 ||e T2 v KQ43 2NS3 150 5.0 1
¢ 72 ¢ KQJT83 ¢ 843 + Q965 3NS-1 -50 9.0 2
& Q92 S a 864 » Q652 aT7
% VBN ,KITG2 *eVAN o AQL
N 6~~55 975 N 4~5~4 A%
S 6~~55 ¢A9% S 4~5~4 ¢KIT72
E ~~~~~ & KJ7 E ~~~~~ & AK8
W ~~~~~ W~~~ ~
#9 & KJT93 4HE4 620 Mean: 4HE4 620 20 7 ||# 10 & KT84 4SS5 -650 Mean: 4SS5 650 9.0 9
v 4HE5 650 -680  5HW5 650 1.0 1 v A6 4SS5 -650 270 A 00 6
» AB72 Dif: -30 NS:1  5HE5 650 1.0 1 ¢ AT62 Dif: 0 NS:9 3SS5 200 20 2
& AQJ5 IMP: -1 EW:-2 4HWS5 650 1.0 2 & A85 IMP: 0 EW:-9 4SS-1 100 9.0 1
s Q2 » A876 4HE5 650 1.0 2 ||a Q75 'y 6SS-2 200 100 1
v KJT87542 v A9%6 A 00 6 ||w KT52 _I_ v QJ9873 3HE4 170 -10.0 1
T * KJ53 4SXN-4 800 3.0 1 ||e 84 * K753 4HE4 620 -13.0 1
& 43 » K7 5HXW5 850 -50 1 ||& KQT6 » J97 4HS-7 700 140 1
FOVAN 4,54 4HXWS5 990 70 1 % ¢ VAN 4 AJ96G32
N 43~2~ Q3 N ~2~43 w4
S 43 ~1~ ¢Q94 S ~2~43 ¢QJ9
E ~~4~3 #T9862 E 1~4~~ #432
W ~~5~4 1~4~~
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1 11l FZ2AKERE IR 2 == RI 1
AVA ‘ o
#1: 9 BEA(20) #2: 4 SHDC(19.22) #3: 1 BFEE(15.52)
1 1 NS: H{&E& S4%FGH0) -6 1 2 NS: B2 STRM(BAC) 6 VP:| 9.61 10.39| Total VP: 9.61 Rank:
EW: $E55 55 BEE R (EAC) -6 EW: 2ZF R (BO) 6 IMP:| 23 24 15
- I -
#1 s 74 3NE3 -400 Mean: 3NE-1 50 80 2 ||# 2 s KT9 1NE-3 150 Mean: 4HS4 620 10.0 1
v AK976 2SW4 -170 -270  2HXN-1 100 50 1 v A974 1NN4 180 130 1NE-5 250 3.0 1
¢ 972 Dif: -230 NS:-4 3SE4 170 3.0 1 + KQT7 Dif: -30 NS:1 1NN4 180 20 1
& AKT IMP: -6 EW:-3 2Sw4 470 3.0 3 » K9 IMP: -1 EW:-2 1NE-4 200 20 4
& AKQJ5 s T8 A 00 6 ||a 876 » QJ542 2HS4 170 1.0 1
v 2 v QT54 4sw4 420 -40 1 ||e T6 I v Q52 1NN3 150 1.0 1
¢ AJ54 + KQ8 3NW4 430 -40 1 ||e J942 ¢ A5 1NE-3 150 1.0 3
* Q73 » J942 3NE4 430 -40 2 ||a T872 » AQJ A 00 6
%o ¢ VAN 49632 3NE3 400 -40 5 FOVAN 4, A3 1NE-2 100 1.0 1
N ~~~~~ v J83 N ~ 44 ~4 v KJ83 1NE-1 50 20 1
S ~~~~~ ¢ T63 S ~34~3 #2863 1NXE1 180 7.0 1
E 34~43 %865 E ~~~~~ & 6543 5HXS-2 500 -12.0 1
w 34~43 W ~~~~~
# 3 a2 3HS3 140 Mean: 4SXW-1 200 80 1 |[|# 4 » Q763 3NE4 -630 Mean: 3DE3 110  10.0 1
v AT842 3HS-1-50 -120 3HS3 140 6.0 1 v AQ 2HXS-3 -800 -590 3CW3 110  10.0 1
¢ 93 Dif: 190 NS:6  3HN3 140 6.0 1 + K63 Dif: 170 NS:-1 A 00 6
& KQ943 IMP: 5 EW:-2 3NS-1 -50 20 1 & QT65 IMP: 5 EW:5 3NE4 630 -1.0 3
& AQT98 a 743 3HS-1 50 20 3 ||e K4 a AT9 3NW5 660 -20 3
v5 v 9763 3NS-2 4100 1.0 2 ||e J6 _I_ v KT9 3NE5 660 -20 6
* KQJ * A754 3HS-2 4100 1.0 1 ||e AJO84 ¢ QT2 3NE6 690 -3.0 1
& AJT8 a 75 3HN-2 4100 1.0 1 ||a J43 a AK92 2HXS-3 800 -5.0 1
% ¢ VBN AKIGS A 00 6 *eVABN o852
N ~~2~~ vKQJ 3SW3 140 10 2 |IN ~~~~~ v 875432
S 1~2~1 #7862 3SE3 140 10 1||S ~~~~~ ¢ 75
E ~1~3~ 862 4SW4 620 -11.0 1 ||E 45 ~~5 &87
W ~1~3~ 5HXN-4  -800 -12.0 1 45~~5
#5 & K7632 3HW3 -140 Mean: 4HW-1 50 80 2(|# 6 a T2 1NS1 90 Mean: 2HN4 170 40 1
v9 4HW-150 -290 4HE-1 50 80 1 v Q9765 2HN4 170 40  3CN4 130 3.0 1
¢ T743 Dif: -190 NS:4 3HW3 140 40 1 ¢5 Dif: -80 NS:2 2HN3 140 30 1
& AT7 IMP: -5 EW:-8 2HW3 140 40 1 & KQJ97 IMP: -2 EW:-4 2HN2 110 20 1
& AJB4 4 QT A 00 6 ||aAJ9 » KQ84 2DS2 90 20 3
v K832 v QJ764 3NW3 400 3.0 1 ||w AT84 — v 32 1NS1 90 20 1
+ AQ5 ¢ 962 4HW5 450 -40 2 ||e A32 ¢ T874 1NN2 120 20 1
& K3 » QJ9 4HW4 420 -40 8 ||a T53 » 862 1NN1 90 20 1
P ¢VABN 4,95 o ¢ VBN 4 7653 A 00 6
N 1 ~~~~ 9AT5 N 3~2~1 wKJ 3NS-1 50 3.0 1
S 1~~~~ ¢KJ8 S 3~2~1 ¢ KQJ% 3HN-1 50 3.0 1
E ~~3~3 #86542 E~~~1~ a&hAd 2DS-1 -50 3.0 2
W ~~3~3 ~~~1~ 3NS-2 100 40 1
3DS-2 100 40 1
#7 » AQ93 4SS5 650 Mean: 4SS6 680 30 2 |[|# 8 » 852 3NS-1-50 Mean: 3NS5 460 4.0 1
v KQT 4SN5 650 590 4SS5 650 20 11 v J876 3NS4430 330 3NS4 430 3.0 3
¢ 54 Dif: 0 NS:2 4SN5 650 2.0 1 * AJ Dif: -480 NS:-9 3NN4 430 3.0 1
& AT53 IMP: 0 EW:-2 A 00 6 & J943 IMP: -10 EW:-3 3NS3 400 2.0 8
& 854 a7 3885 200 -90 1 ||a JT93 a K76 A 00 6
v AJ963 + v 842 2NN4 180 90 1 ||e T2 v KQ43 2NS3 150 5.0 1
¢ 72 ¢ KQJT83 ¢ 843 + Q965 3NS-1 -50 9.0 2
& Q92 S a 864 » Q652 aT7
% VBN ,KITG2 *eVAN o AQL
N 6~~55 975 N 4~5~4 A%
S 6~~55 ¢A9% S 4~5~4 ¢KIT72
E ~~~~~ & KJ7 E ~~~~~ & AK8
W ~~~~~ W~~~ ~
#9 & KJT93 4HE4 -620 Mean: 4HE4 620 20 7 ||# 10 & KT84 4SS-1 -100 Mean: 4SS5 650 9.0 9
v 5HE5 -650 -680  5HW5 650 1.0 1 v A6 4HS-7 -700 270 A 00 6
» AB72 Dif: 30 NS:2 5HE5 650 1.0 1 ¢ AT62 Dif: 600 NS:-9 3SS5 200 20 2
& AQJ5 IMP: 1 EW:-1 4HWS5 650 1.0 2 & A85 IMP: 12 EW:14 4SS-1 100 9.0 1
s Q2 » A876 4HE5 650 1.0 2 ||a Q75 'y 6SS-2 200 100 1
v KJT87542 v A9%6 A 00 6 ||w KT52 _I_ v QJ9873 3HE4 170 -10.0 1
T * KJ53 4SXN-4 800 3.0 1 ||e 84 * K753 4HE4 620 -13.0 1
& 43 » K7 5HXW5 850 -50 1 ||& KQT6 » J97 4HS-7 700 140 1
FOVAN 4,54 4HXWS5 990 70 1 % ¢ VAN 4 AJ96G32
N 43~2~ Q3 N ~2~43 w4
S 43 ~1~ ¢Q94 S ~2~43 ¢QJ9
E ~~4~3 #T9862 E 1~4~~ #432
W ~~5~4 1~4~~
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1 11l FZ2AKERE IR 2 == RI 1
AVA ‘ o
#1: 9 BEA(20) #2: 4 SHDC(19.22) #3: 1 BFEE(15.52)
1 2 NS: V¥ T HRINEIC) 6 11 NS: E{#& S4#F(580) -6 VP:[ 10.39 : 9.61 Total VP: 10.39 Rank:
EW: &5 BEFFEEI0) 6 EW: $£3555 lRER(BAC) -6 IMP:| 24 23 8
— I —
#1 s 74 3NE3 400 Mean: 3NE-1 50 80 2 ||# 2 s KT9 1NE-3 -150 Mean: 4HS4 620 10.0 1
v AK976 2SW4 170 -270  2HXN-1 100 50 1 v A974 1NN4 -180 130  1NE-5 250 3.0 1
¢ 972 Dif: 230 NS:3 3SE4 170 3.0 1 + KQT7 Dif: 30 NS:2 1NN4 180 20 1
& AKT IMP: 6 EW:4 2sSw4 470 3.0 3 » K9 IMP: 1 EW:-1 1NE-4 200 20 4
& AKQJ5 s T8 A 00 6 ||a 876 » QJ542 2HS4 170 1.0 1
v 2 v QT54 4sw4 420 -40 1 ||e T6 I v Q52 1NN3 150 1.0 1
¢ AJ54 + KQ8 3NW4 430 -40 1 ||e J942 ¢ A5 1NE-3 150 1.0 3
* Q73 » J942 3NE4 430 -40 2 ||a T872 » AQJ A 00 6
%o ¢ VAN 49632 3NE3 400 -40 5 FOVAN 4, A3 1NE-2 100 1.0 1
N ~~~~~ v J83 N ~ 44 ~4 v KJ83 1NE-1 50 20 1
S ~~~~~ ¢ T63 S ~34~3 #2863 1NXE1 180 7.0 1
E 34~43 %865 E ~~~~~ & 6543 5HXS-2 500 -12.0 1
w 34~43 W ~~~~~
# 3 a2 3HS3 -140 Mean: 4SXW-1 200 80 1 |[|# 4 » Q763 3NE4 630 Mean: 3DE3 110  10.0 1
v AT842 3HS-150 -120 3HS3 140 6.0 1 v AQ 2HXS-3 800 -590 3CwW3 110  10.0 1
¢ 93 Dif: -190 NS:2 3HN3 140 6.0 1 + K63 Dif: -170 NS:-5 A 00 6
& KQ943 IMP: -5 EW:-6 3NS-1 -50 20 1 & QT65 IMP: -5 EW:1 3NE4 630 -1.0 3
& AQT98 a 743 3HS-1 50 20 3 ||e K4 a AT9 3NW5 660 -20 3
v5 v 9763 3NS-2 4100 1.0 2 ||e J6 _I_ v KT9 3NE5 660 -20 6
* KQJ * A754 3HS-2 4100 1.0 1 ||e AJO84 ¢ QT2 3NE6 690 -3.0 1
& AJT8 a 75 3HN-2 4100 1.0 1 ||a J43 a AK92 2HXS-3 800 -5.0 1
% ¢ VBN AKIGS A 00 6 *eVABN o852
N ~~2~~ vKQJ 3SW3 140 10 2 |IN ~~~~~ v 875432
S 1~2~1 #7862 3SE3 140 10 1||S ~~~~~ ¢ 75
E ~1~3~ 862 4SW4 620 -11.0 1 ||E 45 ~~5 &87
W ~1~3~ 5HXN-4  -800 -12.0 1 45~~5
#5 & K7632 3HW3 140 Mean: 4HW-1 50 80 2(|# 6 a T2 1NS1 -90 Mean: 2HN4 170 40 1
v9 4HW-1 -50 -290  4HE-1 50 80 1 v Q9765 2HN4 -170 40  3CN4 130 3.0 1
¢ T743 Dif: 190 NS:8 3HW3 140 40 1 ¢5 Dif: 80 NS:4 2HN3 140 30 1
& AT7 IMP: 5 EW:-4 2HW3 140 40 1 & KQJ97 IMP: 2 EW:-2 2HN2 110 20 1
& AJB4 4 QT A 00 6 ||aAJ9 » KQ84 2DS2 90 20 3
v K832 v QJ764 3NW3 400 3.0 1 ||w AT84 — v 32 1NS1 90 20 1
+ AQ5 ¢ 962 4HW5 450 -40 2 ||e A32 ¢ T874 1NN2 120 20 1
& K3 » QJ9 4HW4 420 -40 8 ||a T53 » 862 1NN1 90 20 1
P ¢VABN 4,95 o ¢ VBN 4 7653 A 00 6
N 1 ~~~~ 9AT5 N 3~2~1 wKJ 3NS-1 50 3.0 1
S 1~~~~ ¢KJ8 S 3~2~1 ¢ KQJ% 3HN-1 50 3.0 1
E ~~3~3 #86542 E~~~1~ a&hAd 2DS-1 -50 3.0 2
W ~~3~3 ~~~1~ 3NS-2 100 40 1
3DS-2 100 40 1
#7 » AQ93 4SS5 -650 Mean: 4SS6 680 30 2 |[|# 8 » 852 3NS-150 Mean: 3NS5 460 4.0 1
v KQT 4SN5 -650 590 4SS5 650 20 11 v J876 3NS4 -430 330 3NS4 430 3.0 3
¢ 54 Dif: 0 NS:2 4SN5 650 2.0 1 * AJ Dif: 480 NS:3 3NN4 430 3.0 1
& AT53 IMP: 0 EW:-2 A 00 6 & J943 IMP: 10 EW:9 3NS3 400 2.0 8
& 854 a7 3885 200 -90 1 ||a JT93 a K76 A 00 6
v AJ963 + v 842 2NN4 180 90 1 ||e T2 v KQ43 2NS3 150 5.0 1
¢ 72 ¢ KQJT83 ¢ 843 + Q965 3NS-1 -50 9.0 2
& Q92 S a 864 » Q652 aT7
% VBN ,KITG2 *eVAN o AQL
N 6~~55 975 N 4~5~4 A%
S 6~~55 ¢A9% S 4~5~4 ¢KIT72
E ~~~~~ & KJ7 E ~~~~~ & AK8
W ~~~~~ W~~~ ~
#9 & KJT93 4HE4 620 Mean: 4HE4 620 20 7 ||# 10 & KT84 4SS-1 100 Mean: 4SS5 650 9.0 9
v 5HE5 650 -680 5HWS5 650 1.0 1 v A6 4HS-7700 270 A 00 6
» AB72 Dif: -30 NS:1  5HE5 650 1.0 1 ¢ AT62 Dif: -600 NS:-14 3SS5 200 20 2
& AQJ5 IMP: -1 EW:-2 4HWS5 650 1.0 2 & A85 IMP: -12 EW:9 4SS-1 100 9.0 1
s Q2 » A876 4HE5 650 1.0 2 ||a Q75 'y 6SS-2 200 100 1
v KJT87542 v A9%6 A 00 6 ||w KT52 _I_ v QJ9873 3HE4 170 -10.0 1
T * KJ53 4SXN-4 800 3.0 1 ||e 84 * K753 4HE4 620 -13.0 1
& 43 » K7 5HXW5 850 -50 1 ||& KQT6 » J97 4HS-7 700 140 1
FOVAN 4,54 4HXWS5 990 70 1 % ¢ VAN 4 AJ96G32
N 43~2~ Q3 N ~2~43 w4
S 43 ~1~ ¢Q94 S ~2~43 ¢QJ9
E ~~4~3 #T9862 E 1~4~~ #432
W ~~5~4 1~4~~




X AN >\ ¢ —_—
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AVA ‘ o
#1: 9 BEA(20) #2: 4 SHDC(19.22) #3: 1 BFEE(15.52)
1 3 NS: xR RERGHO) 11 14 NS: #tiRiE ZFFHE(BAC) -3 VP:| 1251 : 7.49 Total VP: 12.51 Rank:
EW: BEEEE) BiREEIC) 3 EW: [Rigi % E#&1E(BRO) -1 IMP:| 20 13 6
- I
#1 s 74 4SW4 -420 Mean: 3NE-1 50 80 2 ||# 2 s KT9 1NN3 150 Mean: 4HS4 620 10.0 1
v AK976 2SW4 -170 -270  2HXN-1 100 50 1 v A974 1NE-3150 130 1NE-5 250 3.0 1
¢ 972 Dif: -250 NS:-4 3SE4 170 3.0 1 + KQT7 Dif: 0 NS:1  1NN4 180 20 1
& AKT IMP: -6 EW:-3 2Sw4 470 3.0 3 » K9 IMP: 0 EW:-1 1NE-4 200 20 4
& AKQJ5 s T8 A 00 6 ||a 876 » QJ542 2HS4 170 1.0 1
v 2 v QT54 4sw4 420 -40 1 ||e T6 I v Q52 1NN3 150 1.0 1
¢ AJ54 + KQ8 3NW4 430 -40 1 ||e J942 ¢ A5 1NE-3 150 1.0 3
& Q73 » J942 3NE4 430 -40 2 ||a T872 » AQJ A 00 6
%o ¢ VAN 49632 3NE3 400 -40 5 FOVAN 4, A3 1NE-2 100 1.0 1
N ~~~~~ v J83 N ~ 44 ~4 v KJ83 1NE-1 50 20 1
S ~~~~~ ¢ T63 S ~34~3 #2863 1NXE1 180 7.0 1
E 34~43 %865 E ~~~~~ & 6543 5HXS-2 500 -12.0 1
w 34~43 W ~~~~~
# 3 a2 3HS-1-50 Mean: 4SXW-1 200 80 1 |[|# 4 » Q763 3NE5 -660 Mean: 3DE3 110  10.0 1
v AT842 4SXW-1200 -120 3HS3 140 6.0 1 v AQ 3NW5 -660 -590 3CW3 110  10.0 1
¢ 93 Dif: -250 NS:2 3HN3 140 6.0 1 + K63 Dif: 0 NS:-2 A 00 6
& KQ943 IMP: -6 EW:-8 3NS-1 -50 20 1 & QT65 IMP: 0 EW:2 3NE4 630 -1.0 3
& AQT98 a 743 3HS-1 50 20 3 ||e K4 a AT9 3NW5 660 -20 3
v5 v 9763 3NS-2 4100 1.0 2 ||e J6 _I_ v KT9 3NE5 660 -20 6
* KQJ * A754 3HS-2 4100 1.0 1 ||e AJO84 ¢ QT2 3NE6 690 -3.0 1
& AJT8 a 75 3HN-2 4100 1.0 1 ||a J43 a AK92 2HXS-3 800 -5.0 1
% ¢ VBN AKIGS A 00 6 *eVABN o852
N ~~2~~ vKQJ 3SW3 140 10 2 |IN ~~~~~ v 875432
S 1~2~1 #7862 3SE3 140 10 1||S ~~~~~ ¢ 75
E ~1~3~ 862 4SW4 620 -11.0 1 ||E 45 ~~5 &87
W ~1~3~ 5HXN-4  -800 -12.0 1 45~~5
#5 & K7632 4HWS5 -450 Mean: 4HW-1 50 80 2(|# 6 a T2 2HN2 110 Mean: 2HN4 170 40 1
v9 4HW4 -420 -290  4HE-1 50 80 1 v Q9765 3NS-2-100 40  3CN4 130 3.0 1
¢ T743 Dif: -30 NS:-4 3HW3 140 40 1 ¢5 Dif: 210 NS:2 2HN3 140 30 1
& AT7 IMP: -1 EW:4 2HW3 140 40 1 & KQJ97 IMP: 5 EW:4 2HN2 110 20 1
& AJB4 4 QT A 00 6 ||aAJ9 » KQ84 2DS2 90 20 3
v K832 v QJ764 3NW3 400 3.0 1 ||w AT84 — v 32 1NS1 90 20 1
+ AQ5 ¢ 962 4HW5 450 -40 2 ||e A32 ¢ T874 1NN2 120 20 1
& K3 » QJ9 4HW4 420 -40 8 ||a T53 » 862 1NN1 90 20 1
P ¢VABN 4,95 o ¢ VBN 4 7653 A 00 6
N 1 ~~~~ 9AT5 N 3~2~1 wKJ 3NS-1 50 3.0 1
S 1~~~~ ¢KJ8 S 3~2~1 ¢ KQJ% 3HN-1 50 3.0 1
E ~~3~3 #86542 E~~~1~ a&hAd 2DS-1 -50 3.0 2
W ~~3~3 ~~~1~ 3NS-2 100 40 1
3DS-2 100 40 1
#7 » AQ93 4SS5 650 Mean: 4SS6 680 30 2 |[|# 8 » 852 3NN4 430 Mean: 3NS5 460 4.0 1
v KQT 4SS5 650 590 4SS5 650 20 11 v J876 3NS3400 330 3NS4 430 3.0 3
¢ 54 Dif: 0 NS:2 4SN5 650 2.0 1 * AJ Dif: 30 NS:3 3NN4 430 3.0 1
& AT53 IMP: 0 EW:-2 A 00 6 & J943 IMP: 1 EW:-2 3NS3 400 2.0 8
& 854 a7 3885 200 -90 1 ||a JT93 a K76 A 00 6
v AJ963 + v 842 2NN4 180 90 1 ||e T2 v KQ43 2NS3 150 5.0 1
¢ 72 ¢ KQJT83 ¢ 843 + Q965 3NS-1 -50 9.0 2
& Q92 S a 864 » Q652 aT7
% VBN ,KITG2 *eVAN o AQL
N 6~~55 975 N 4~5~4 A%
S 6~~55 ¢A9% S 4~5~4 ¢KIT72
E ~~~~~ & KJ7 E ~~~~~ & AK8
W ~~~~~ W~~~ ~
#9 & KJT93 4HE4 -620 Mean: 4HE4 620 20 7 ||# 10 & KT84 4SS5 650 Mean: 4SS5 650 9.0 9
v 5HW5 -650 -680  5HW5 650 1.0 1 v A6 6SS-2-200 270 A 00 6
» AB72 Dif: 30 NS:2 5HE5 650 1.0 1 ¢ AT62 Dif: 850 NS:9 3SS5 200 20 2
& AQJ5 IMP: 1 EW:-1 4HWS5 650 1.0 2 & A85 IMP: 13 EW:10 4SS-1 100 9.0 1
s Q2 » A876 4HE5 650 1.0 2 ||a Q75 'y 6SS-2 200 100 1
v KJT87542 v A9%6 A 00 6 ||w KT52 _I_ v QJ9873 3HE4 170 -10.0 1
T * KJ53 4SXN-4 800 3.0 1 ||e 84 * K753 4HE4 620 -13.0 1
& 43 » K7 5HXW5 850 -50 1 ||& KQT6 » J97 4HS-7 700 140 1
FOVAN 4,54 4HXWS5 990 70 1 % ¢ VAN 4 AJ96G32
N 43~2~ Q3 N ~2~43 w4
S 43 ~1~ ¢Q94 S ~2~43 ¢QJ9
E ~~4~3 #T9862 E 1~4~~ #432
W ~~5~4 1~4~~




X AN >\ ¢ —_—
1 11l FZ2AKERE IR 2 == RI 1
AVA ‘ o
#1: 9 BEA(20) #2: 4 SHDC(19.22) #3: 1 BFEE(15.52)
1 4 NS: #tiRiE £F22EAC) -3 1 3 NS: %KX RiEHE(B0) 11 VP:| 7.49 12.51| Total VP: 7.49 Rank:
EW: BEHE FEREEI0) -11 EW: [RES) $BREE(BAC) 3 IMP:| 13 20 17
I
#1 s 74 4SW4 420 Mean: 3NE-1 50 80 2 ||# 2 s KT9 1NN3 -150 Mean: 4HS4 620 10.0 1
v AK976 2SW4 170 -270  2HXN-1 100 50 1 v A974 1NE-3 -150 130 1NE-5 250 3.0 1
¢ 972 Dif: 250 NS:3 3SE4 170 3.0 1 + KQT7 Dif: 0 NS:1  1NN4 180 20 1
& AKT IMP: 6 EW:4 2sSw4 470 3.0 3 » K9 IMP: 0 EW:-1 1NE-4 200 20 4
& AKQJ5 s T8 A 00 6 ||a 876 » QJ542 2HS4 170 1.0 1
v 2 v QT54 4sw4 420 -40 1 ||e T6 I v Q52 1NN3 150 1.0 1
¢ AJ54 + KQ8 3NW4 430 -40 1 ||e J942 ¢ A5 1NE-3 150 1.0 3
* Q73 » J942 3NE4 430 -40 2 ||a T872 » AQJ A 00 6
%o ¢ VAN 49632 3NE3 400 -40 5 FOVAN 4, A3 1NE-2 100 1.0 1
N ~~~~~ v J83 N ~ 44 ~4 v KJ83 1NE-1 50 20 1
S ~~~~~ ¢ T63 S ~34~3 #2863 1NXE1 180 7.0 1
E 34~43 %865 E ~~~~~ & 6543 5HXS-2 500 -12.0 1
w 34~43 W ~~~~~
# 3 a2 3HS-150 Mean: 4SXW-1 200 80 1 |[|# 4 » Q763 3NE5 660 Mean: 3DE3 110  10.0 1
v AT842 4SXW-1-200 -120 3HS3 140 6.0 1 v AQ 3NW5 660 -590 3CW3 110  10.0 1
¢ 93 Dif: 250 NS:8 3HN3 140 6.0 1 + K63 Dif: 0 NS:-2 A 00 6
& KQ943 IMP: 6 EW:-2 3NS-1 -50 20 1 & QT65 IMP: 0 EW:2 3NE4 630 -1.0 3
& AQT98 a 743 3HS-1 50 20 3 ||e K4 a AT9 3NW5 660 -20 3
v5 v 9763 3NS-2 4100 1.0 2 ||e J6 _I_ v KT9 3NE5 660 -20 6
* KQJ * A754 3HS-2 4100 1.0 1 ||e AJO84 ¢ QT2 3NE6 690 -3.0 1
& AJT8 a 75 3HN-2 4100 1.0 1 ||a J43 a AK92 2HXS-3 800 -5.0 1
% ¢ VBN AKIGS A 00 6 *eVABN o852
N ~~2~~ vKQJ 3SW3 140 10 2 |IN ~~~~~ v 875432
S 1~2~1 #7862 3SE3 140 10 1||S ~~~~~ ¢ 75
E ~1~3~ 862 4SW4 620 -11.0 1 ||E 45 ~~5 &87
W ~1~3~ 5HXN-4  -800 -12.0 1 45~~5
#5 & K7632 4HWS5 450 Mean: 4HW-1 50 80 2(|# 6 a T2 2HN2 -110 Mean: 2HN4 170 40 1
v9 4HW4 420 290  4HE- 50 80 1 v Q9765 3NS-2100 40  3CN4 130 3.0 1
¢ T743 Dif: 30 NS:-4 3HW3 140 40 1 ¢5 Dif: 210 NS:-4 2HN3 140 30 1
& AT7 IMP: 1 EW:4 2HW3 140 40 1 & KQJ97 IMP: -5 EW:-2 2HN2 110 20 1
& AJB4 4 QT A 00 6 ||aAJ9 » KQ84 2DS2 90 20 3
v K832 v QJ764 3NW3 400 3.0 1 ||w AT84 — v 32 1NS1 90 20 1
+ AQ5 ¢ 962 4HW5 450 -40 2 ||e A32 ¢ T874 1NN2 120 20 1
& K3 » QJ9 4HW4 420 -40 8 ||a T53 » 862 1NN1 90 20 1
P ¢VABN 4,95 o ¢ VBN 4 7653 A 00 6
N 1 ~~~~ 9AT5 N 3~2~1 wKJ 3NS-1 50 3.0 1
S 1~~~~ ¢KJ8 S 3~2~1 ¢ KQJ% 3HN-1 50 3.0 1
E ~~3~3 #86542 E~~~1~ a&hAd 2DS-1 -50 3.0 2
W ~~3~3 ~~~1~ 3NS-2 100 40 1
3DS-2 100 40 1
#7 » AQ93 4SS5 -650 Mean: 4SS6 680 30 2 |[|# 8 » 852 3NN4 -430 Mean: 3NS5 460 4.0 1
v KQT 4SS5 -650 590 4SS5 650 20 11 v J876 3NS3 -400 330 3NS4 430 3.0 3
¢ 54 Dif: 0 NS:2 4SN5 650 2.0 1 * AJ Dif: -30 NS:2 3NN4 430 3.0 1
& AT53 IMP: 0 EW:-2 A 00 6 & J943 IMP: -1 EW:-3 3NS3 400 2.0 8
& 854 a7 3885 200 -90 1 ||a JT93 a K76 A 00 6
v AJ963 + v 842 2NN4 180 90 1 ||e T2 v KQ43 2NS3 150 5.0 1
¢ 72 ¢ KQJT83 ¢ 843 + Q965 3NS-1 -50 9.0 2
& Q92 S a 864 » Q652 aT7
% VBN ,KITG2 *eVAN o AQL
N 6~~55 975 N 4~5~4 A%
S 6~~55 ¢A9% S 4~5~4 ¢KIT72
E ~~~~~ & KJ7 E ~~~~~ & AK8
W ~~~~~ W~~~ ~
#9 & KJT93 4HE4 620 Mean: 4HE4 620 20 7 ||# 10 & KT84 4SS5 -650 Mean: 4SS5 650 9.0 9
v 5HW5 650 -680 5HWS5 650 1.0 1 v A6 6SS-2200 270 A 00 6
» AB72 Dif: -30 NS:1  5HE5 650 1.0 1 ¢ AT62 Dif: -850 NS:-10 3SS5 200 20 2
& AQJ5 IMP: -1 EW:-2 4HWS5 650 1.0 2 & A85 IMP: -13 EW:-9 4SS-1 100 9.0 1
s Q2 » A876 4HE5 650 1.0 2 ||a Q75 'y 6SS-2 200 100 1
v KJT87542 v A9%6 A 00 6 ||w KT52 _I_ v QJ9873 3HE4 170 -10.0 1
T * KJ53 4SXN-4 800 3.0 1 ||e 84 * K753 4HE4 620 -13.0 1
& 43 » K7 5HXW5 850 -50 1 ||& KQT6 » J97 4HS-7 700 140 1
FOVAN 4,54 4HXWS5 990 70 1 % ¢ VAN 4 AJ96G32
N 43~2~ Q3 N ~2~43 w4
S 43 ~1~ ¢Q94 S ~2~43 ¢QJ9
E ~~4~3 #T9862 E 1~4~~ #432
W ~~5~4 1~4~~




X AN >\ ¢ —_—
1 11l FZ2AKERE IR 2 == RI 1
AVA ‘ o
#1: 9 BEA(20) #2: 4 SHDC(19.22) #3: 1 BFEE(15.52)
1 5 NS: SHEE EEEGI0) 15 1 6 NS: BR1&#E BREISZ(BAC) 23 VP:| 6.57 : 13.43| Total VP: 6.57 Rank:
EW: 527 HEREAC) -23 EW: &30& MEHE(BO) -1 IMP:| 10 20 18
— I -
#1 s 74 3NE-1 50 Mean: 3NE-1 50 80 2 ||# 2 s KT9 1NE-4 200 Mean: 4HS4 620 10.0 1
v AK976 3NE4 -430 -270  2HXN-1 100 50 1 v A974 4HS4 620 130 1NE-5 250 3.0 1
¢ 972 Dif: 480 NS:8 3SE4 170 3.0 1 + KQT7 Dif: -420 NS:2 1NN4 180 20 1
& AKT IMP: 10 EW:4 2Sw4 470 3.0 3 » K9 IMP: -9 EW:-10 1NE-4 200 20 4
& AKQJ5 s T8 A 00 6 ||a 876 » QJ542 2HS4 170 1.0 1
v 2 v QT54 4sw4 420 -40 1 ||e T6 I v Q52 1NN3 150 1.0 1
¢ AJ54 + KQ8 3NW4 430 -40 1 ||e J942 ¢ A5 1NE-3 150 1.0 3
& Q73 » J942 3NE4 430 -40 2 ||a T872 » AQJ A 00 6
%o ¢ VAN 49632 3NE3 400 -40 5 FOVAN 4, A3 1NE-2 100 1.0 1
N ~~~~~ v J83 N ~ 44 ~4 v KJ83 1NE-1 50 20 1
S ~~~~~ ¢ T63 S ~34~3 #2863 1NXE1 180 7.0 1
E 34~43 %865 E ~~~~~ & 6543 5HXS-2 500 -12.0 1
w 34~43 W ~~~~~
# 3 a2 3SW3 -140 Mean: 4SXW-1 200 80 1 |[|# 4 » Q763 3NW5 -660 Mean: 3DE3 110  10.0 1
v AT842 3HS-1-50 -120 3HS3 140 6.0 1 v AQ 3NE5 -660 -590 3CW3 110  10.0 1
¢ 93 Dif: -90 NS:-1  3HN3 140 6.0 1 + K63 Dif: 0 NS:-2 A 00 6
& KQ943 IMP: -3 EW:-2 3NS-1 -50 20 1 & QT65 IMP: 0 EW:2 3NE4 630 -1.0 3
& AQT98 a 743 3HS-1 50 20 3 ||e K4 a AT9 3NW5 660 -20 3
v5 v 9763 3NS-2 4100 1.0 2 ||e J6 _I_ v KT9 3NE5 660 -20 6
* KQJ * A754 3HS-2 4100 1.0 1 ||e AJO84 ¢ QT2 3NE6 690 -3.0 1
& AJT8 a 75 3HN-2 4100 1.0 1 ||a J43 a AK92 2HXS-3 800 -5.0 1
% ¢ VBN AKIGS A 00 6 *eVABN o852
N ~~2~~ vKQJ 3SW3 140 10 2 |IN ~~~~~ v 875432
S 1~2~1 #7862 3SE3 140 10 1||S ~~~~~ ¢ 75
E ~1~3~ 862 4SW4 620 -11.0 1 ||E 45 ~~5 &87
W ~1~3~ 5HXN-4  -800 -12.0 1 45~~5
#5 & K7632 4HW4 -420 Mean: 4HW-1 50 80 2(|# 6 a T2 3HN-1-50 Mean: 2HN4 170 40 1
v9 4HW4 -420 -290  4HE-1 50 80 1 v Q9765 2HN3 140 40  3CN4 130 3.0 1
¢ T743 Dif: 0 NS:-4 3HW3 140 40 1 ¢5 Dif: -190 NS:-3 2HN3 140 30 1
& AT7 IMP: 0 EW:4 2HW3 140 40 1 & KQJ97 IMP: -5 EW:-3 2HN2 110 20 1
& AJB4 4 QT A 00 6 ||aAJ9 » KQ84 2DS2 90 20 3
v K832 v QJ764 3NW3 400 3.0 1 ||w AT84 — v 32 1NS1 90 20 1
+ AQ5 ¢ 962 4HW5 450 -40 2 ||e A32 ¢ T874 1NN2 120 20 1
& K3 » QJ9 4HW4 420 -40 8 ||a T53 » 862 1NN1 90 20 1
P ¢VABN 4,95 o ¢ VBN 4 7653 A 00 6
N 1 ~~~~ 9AT5 N 3~2~1 wKJ 3NS-1 50 3.0 1
S 1~~~~ ¢KJ8 S 3~2~1 ¢ KQJ% 3HN-1 50 3.0 1
E ~~3~3 #86542 E~~~1~ a&hAd 2DS-1 -50 3.0 2
W ~~3~3 ~~~1~ 3NS-2 100 40 1
3DS-2 100 40 1
#7 » AQ93 4SS5 650 Mean: 4SS6 680 30 2 |[|# 8 » 852 3NS3 400 Mean: 3NS5 460 4.0 1
v KQT 4SS6 680 590 4SS5 650 20 11 v J876 3NS5460 330 3NS4 430 3.0 3
+ 54 Dif: -30 NS:2 4SN5 650 2.0 1 * AJ Dif: -60 NS:2 3NN4 430 3.0 1
& AT53 IMP: -1 EW:-3 A 00 6 & J943 IMP: -2 EW:-4 3NS3 400 2.0 8
& 854 a7 3885 200 -90 1 ||a JT93 a K76 A 00 6
v AJ963 + v 842 2NN4 180 90 1 ||e T2 v KQ43 2NS3 150 5.0 1
¢ 72 ¢ KQJT83 ¢ 843 + Q965 3NS-1 -50 9.0 2
& Q92 S a 864 » Q652 aT7
% VBN ,KITG2 *eVAN o AQL
N 6~~55 975 N 4~5~4 A%
S 6~~55 ¢A9% S 4~5~4 ¢KIT72
E ~~~~~ & KJ7 E ~~~~~ & AK8
W ~~~~~ W~~~ ~
#9 & KJT93 4HE4 -620 Mean: 4HE4 620 20 7 ||# 10 & KT84 4SS5 650 Mean: 4SS5 650 9.0 9
v 4HE4 -620 -680 5HWS5 650 1.0 1 v A6 4SS5650 270 A 00 6
» AB72 Dif: 0 NS:2 5HE5 650 1.0 1 ¢ AT62 Dif: 0 NS:9 3SS5 200 20 2
& AQJ5 IMP: 0 EW:-2 4HWS5 650 1.0 2 & A85 IMP: 0 EW:-9 4SS-1 100 9.0 1
s Q2 » A876 4HE5 650 1.0 2 ||a Q75 'y 6SS-2 200 100 1
v KJT87542 v A9%6 A 00 6 ||w KT52 _I_ v QJ9873 3HE4 170 -10.0 1
T * KJ53 4SXN-4 800 3.0 1 ||e 84 * K753 4HE4 620 -13.0 1
& 43 » K7 5HXW5 850 -50 1 ||& KQT6 » J97 4HS-7 700 140 1
FOVAN 4,54 4HXWS5 990 70 1 % ¢ VAN 4 AJ96G32
N 43~2~ Q3 N ~2~43 w4
S 43 ~1~ ¢Q94 S ~2~43 ¢QJ9
E ~~4~3 #T9862 E 1~4~~ #432
W ~~5~4 1~4~~




X AN >\ ¢ —_—
1 11l FZ2AKERE IR 2 == RI 1
AVA ‘ o
#1: 9 BEA(20) #2: 4 SHDC(19.22) #3: 1 BFEE(15.52)
1 6 NS: BEEE B EEC) 23 15 NS: #RE EEE(B0) 15 VP:| 13.43 : 6.57 Total VP: 13.43 Rank:
EW: & 0& MREREEHO) -15 EW: BE&A HEE(BAC) -2 IMP:| 20 10 4
- I —
#1 s 74 3NE-1-50 Mean: 3NE-1 50 80 2 ||# 2 s KT9 1NE-4 -200 Mean: 4HS4 620 10.0 1
v AK976 3NE4 430 -270  2HXN-1 100 50 1 v A974 4HS4 -620 130  1NE-5 250 3.0 1
¢ 972 Dif: -480 NS:-4 3SE4 170 3.0 1 + KQT7 Dif: 420 NS:10 1NN4 180 20 1
& AKT IMP: -10 EW:-8 2SwW4 470 3.0 3 » K9 IMP: 9 EW:-2 1NE-4 200 20 4
& AKQJ5 s T8 A 00 6 ||a 876 » QJ542 2HS4 170 1.0 1
v 2 v QT54 4sw4 420 -40 1 ||e T6 I v Q52 1NN3 150 1.0 1
¢ AJ54 + KQ8 3NW4 430 -40 1 ||e J942 ¢ A5 1NE-3 150 1.0 3
* Q73 » J942 3NE4 430 -40 2 ||a T872 » AQJ A 00 6
%o ¢ VAN 49632 3NE3 400 -40 5 FOVAN 4, A3 1NE-2 100 1.0 1
N ~~~~~ v J83 N ~ 44 ~4 v KJ83 1NE-1 50 20 1
S ~~~~~ ¢ T63 S ~34~3 #2863 1NXE1 180 7.0 1
E 34~43 %865 E ~~~~~ & 6543 5HXS-2 500 -12.0 1
w 34~43 W ~~~~~
# 3 a2 3SW3 140 Mean: 4SXW-1 200 80 1 |[|# 4 » Q763 3NW5 660 Mean: 3DE3 110  10.0 1
v AT842 3HS-150 -120 3HS3 140 6.0 1 v AQ 3NE5 660 -590 3CW3 110  10.0 1
¢ 93 Dif: 90 NS:2 3HN3 140 6.0 1 + K63 Dif: 0 NS:-2 A 00 6
& KQ943 IMP: 3 EW:1 3NS-1 -50 20 1 & QT65 IMP: 0 EW:2 3NE4 630 -1.0 3
& AQT98 a 743 3HS-1 50 20 3 ||e K4 a AT9 3NW5 660 -20 3
v5 v 9763 3NS-2 4100 1.0 2 ||e J6 _I_ v KT9 3NE5 660 -20 6
* KQJ * A754 3HS-2 4100 1.0 1 ||e AJO84 ¢ QT2 3NE6 690 -3.0 1
& AJT8 a 75 3HN-2 4100 1.0 1 ||a J43 a AK92 2HXS-3 800 -5.0 1
% ¢ VBN AKIGS A 00 6 *eVABN o852
N ~~2~~ vKQJ 3SW3 140 10 2 |IN ~~~~~ v 875432
S 1~2~1 #7862 3SE3 140 10 1||S ~~~~~ ¢ 75
E ~1~3~ 862 4SW4 620 -11.0 1 ||E 45 ~~5 &87
W ~1~3~ 5HXN-4  -800 -12.0 1 45~~5
#5 & K7632 4HW4 420 Mean: 4HW-1 50 80 2(|# 6 a T2 3HN-1 50 Mean: 2HN4 170 40 1
v9 4HW4 420 -290  4HE- 50 80 1 v Q9765 2HN3 -140 40  3CN4 130 3.0 1
¢ T743 Dif: 0 NS:-4 3HW3 140 40 1 ¢5 Dif: 190 NS:3 2HN3 140 30 1
& AT7 IMP: 0 EW:4 2HW3 140 40 1 & KQJ97 IMP: 5 EW:3 2HN2 110 20 1
& AJB4 4 QT A 00 6 || AJ9 » KQ84 2DS2 90 20 3
v K832 v QJ764 3NW3 400 3.0 1 ||w AT84 — v 32 1NS1 90 20 1
+ AQ5 ¢ 962 4HW5 450 -40 2 ||e A32 ¢ T874 1NN2 120 20 1
& K3 » QJ9 4HW4 420 -40 8 ||a T53 » 862 1NN1 90 20 1
P ¢VABN 4,95 o ¢ VBN 4 7653 A 00 6
N 1 ~~~~ 9AT5 N 3~2~1 wKJ 3NS-1 50 3.0 1
S 1~~~~ ¢KJ8 S 3~2~1 ¢ KQJ% 3HN-1 50 3.0 1
E ~~3~3 #86542 E~~~1~ a&hAd 2DS-1 -50 3.0 2
W ~~3~3 ~~~1~ 3NS-2 100 40 1
3DS-2 100 40 1
#7 » AQ93 4SS5 -650 Mean: 4SS6 680 30 2 |[|# 8 » 852 3NS3 -400 Mean: 3NS5 460 4.0 1
v KQT 4SS6 -680 590 4SS5 650 20 11 v J876 3NS5 -460 330 3NS4 430 3.0 3
+ 54 Dif: 30 NS:3 4SN5 650 2.0 1 * AJ Dif: 60 NS:4 3NN4 430 3.0 1
& AT53 IMP: 1 EW:-2 A 00 6 & J943 IMP: 2 EW:-2 3NS3 400 2.0 8
& 854 a7 3885 200 -90 1 ||a JT93 a K76 A 00 6
v AJ963 + v 842 2NN4 180 90 1 ||e T2 v KQ43 2NS3 150 5.0 1
¢ 72 ¢ KQJT83 ¢ 843 + Q965 3NS-1 -50 9.0 2
& Q92 S a 864 » Q652 aT7
% VBN ,KITG2 *eVAN o AQL
N 6~~55 975 N 4~5~4 A%
S 6~~55 ¢A9% S 4~5~4 ¢KIT72
E ~~~~~ & KJ7 E ~~~~~ & AK8
W ~~~~~ W~~~ ~
#9 & KJT93 4HE4 620 Mean: 4HE4 620 20 7 ||# 10 & KT84 4SS5 -650 Mean: 4SS5 650 9.0 9
v 4HE4 620 -680 5HW5 650 1.0 1 v A6 4SS5 -650 270 A 00 6
» AB72 Dif: 0 NS:2 5HE5 650 1.0 1 ¢ AT62 Dif: 0 NS:9 3SS5 200 20 2
& AQJ5 IMP: 0 EW:-2 4HWS5 650 1.0 2 & A85 IMP: 0 EW:-9 4SS-1 100 9.0 1
s Q2 » A876 4HE5 650 1.0 2 ||a Q75 'y 6SS-2 200 100 1
v KJT87542 v A9%6 A 00 6 ||w KT52 _I_ v QJ9873 3HE4 170 -10.0 1
T * KJ53 4SXN-4 800 3.0 1 ||e 84 * K753 4HE4 620 -13.0 1
& 43 » K7 5HXW5 850 -50 1 ||& KQT6 » J97 4HS-7 700 140 1
FOVAN 4,54 4HXWS5 990 70 1 % ¢ VAN 4 AJ96G32
N 43~2~ Q3 N ~2~43 w4
S 43 ~1~ ¢Q94 S ~2~43 ¢QJ9
E ~~4~3 #T9862 E 1~4~~ #432
W ~~5~4 1~4~~




X AN >\ ¢ —_—
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